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[4] 1.3k (Nonkey Attribute)#s i 55— (RS BE M DAEFHATS T8 - TR A DA 2
OIJE#EFE{{c(Nonkey Dependency) @[ 471 (Partial Dependency)
@& R}HH(Data Dependency) @EFLAH K (Transitive Dependency)
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[1] 3.FERAREIR AL Terabyte (TB) &y NFI{al = ?
® 10" byte @ 10" byte ® 10" byte @ 10* byte
[2] 4.35R5 B8 0=t 1% £ (Relational Operations)fy4s5 S HE Fyfr] ?
O#{E (Numeric Value) @FHE(Table)
&K} &4 (Data Attributes) @fEYI|(Array)
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O ALTER TABLE @ CHANGE TABLE
® MODIFY TABLE @ UPDATE TABLE
(3] 9.V A2 UML S o > (i FEE] o] R as T B 2 &t ?

O 7 [El(Sequence Diagram)

Ofdfi & Z & (Use case Diagram)

®#H 7'][E|(Class Diagram)

@& &l (Deployment Diagram)
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@ INNER JOIN

® RIGHT OUTER JOIN

@ LEFT OUTER JOIN
® FULL OUTER JOIN
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(=) fEE L4 (@40 : Windows ~ Unix/Linux ) &2t — b4 PR & 25 d5 < (network command) {7 Bf
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AR JAVA fiiA:

import java.sql.*;

virtual ELRiF A 5 T (employees) £t #2401 T Class test {
employees ( & T.) public static void main(String[] args) {
=¥ int, pri K 5 String conUrl =
no (S ) int, primary key ( -£5) "jdbc:sqlserver://localhost;databaseName=virtual;user=sa;password=sa;";
name (#:%4) varchar(24)
birthday (4:=H ) date tCon{nection con = null;
EIERA I HE4 A A4S T 48 T uE ry _ _ )
. /A\jfjfjj{ﬁ A HAYRTA H s - SECATYEEER 50 5RrYsa 2000 7 - FLERAYE 1500 7T » FH{R Class.forName(*'com.microsoft.sqlserver.jdbc.SQLServerDriver");
BELUT PR con = DriverManager.getConnection(conUrl);
1 EHAREEREIH MEAAEERET » WEREFR (FlieryHE RSB EHAF) - BRMRFERH Statement stmt = con.createStatement();
REVNGEF ResultSet rs;
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rs.close();
stmt.close();
} catch (Exception ex) {
ex.printStackTrace();
}

i 1% DOTNET(CH) =2 JAVA 12 GBS 5ol ME=UR BE - [15 77] }
DOTNET(C#)Rf4:
using System;
using System.Data.SqlClient;

namespace _test

class Program

{

static void Main(string[] args)
{
SqlConnection cn = new SqlConnection();
cn.ConnectionString = @"data source=localhost; initial catalog =
virtual; user id = sa; password = sa";
SglCommand command = new SglCommand();
command.Connection = ¢n;
cn.Open();

command.Cancel();
reader.Close();
cn.Close();
cn.Dispose();



